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A (x+y) +8(x—y)P =

(3x + Ay)(3x2 + Bxy + G)2)
g, @ (C—-A+ B) S HH &1 ;
(A) 0 B) 3
€ 2 (D) 4
T 9o R WY 1 RS a0 264 a1
HieX ¥ 3R 39E AFaT 924 WA WX
21 39% = iR F9E w1 U 9|
HIfIT :
(A) 3:7 B) 7:3

C) 6:7 (D) 7:6

AABC® /4 =48°%13f¢ /B3R /C

& fgures /R faerd € 1 £BIC %1919
AU

(A) 19
©

TR 3R g7 & =\ a9 20 3R 25
fAid g 1w oy 10 T o=

(B) 138°

114° (D) 102°

3.

4.

If (x +y)3 + 8(x—y)3 =

(3x + Ay)(3x* + Bxy + ),
then the value of (C — 4 + B) will be :
(A) 0 (B) 3
© 2 (D) 4

The curved surface area of a cylindrical
pillar is 264 m? and its volume is
924 m3. Find the ratio of its diameter

and its height :
(A) 3:7 B) 7:3
() 6157 (D) 7:6

In A ABC, ZA = 48°, If the bisectors of
4B and ZC meet at I, then the measure
of ZBIC will be :

(A) 119°
(C) 114°

(B) 138°
(D) 102°

Hari and Mohan can do a work in

20 and 25 days respectively. After

FH FE F 9 ITH 99K TR F SA doing collectively 10 days of work,
W Brs fean oIk vam 3 9= =m 3 f&ZH they leave the work due to illness and
¥ @ ¥ e vy =1 35 T FM Shyam completes rest of the work in
EH FEH fFaa feqa o ? 3 days. How many days Shyam alone
can take to complete the whole work?
(A) 32fe (B) 28fs

. (A) 32days (B) 28 days

(C) 29f@ (D) 30f& (C) 29days (D) 30 days
CIM -2 [3] ik Set-C



T E. 5 Td 6 % fora BT

i o T wel § wle weE | i Sy miba
T | 9! W 3R FYAT HT AT FET M
3R Ig T HEAT 8 5 U9 1 IW A & o
PG/ FUT AT /8 |

Direction for Question Nos. S and 6

Each of the questions given below consists
of a question followed by three statements.
You have to study the question and the
statements, and decide which of the
statements is/are necessary to answer the
question.

5. ofa &t adam oy ferat & 2
I ot T 74 sl =1 39 SEF PR 5. What is Arnav’s present age?
- I.  Five years ago, Arnav’s age was
SN R W3R A5 A double that of his son’s age at
. omig iR 39& & &1 a9 39 that time
11:6 % 37q9@ 4 & II. Present ages of Amav and his
[l 3= ¥ 9= 99 915 i ik 39& son are in the ratio of 11: 6
¥ T IY H I 12 : 7 B [II. Five years hence, the ratio of
it Arnav’s age and his son’s age
will become 12 : 7
(A) LIrsRin (A) I, 1I and III
(B) fa Il SIRIII (B) Only Il and III
(C) @i A AHE A (C) Any two of the three
(D) fak 1R (D) Only I and III
6. HWI I TIfd AT ? 6. What is the speed of the current?
. feor gt & AE = Afg 8 e I.  Speed of the boat is 8 km/hr in
® still water
. II. The boat runs at a speed of
: EHE q 11 fedt. &=
. zr{ 3 gjﬁﬁ? = 11 km/hr downstream
i II. The difference between the
1. feert 1 o e 1 feqm 5 1 1 speeds of the boat while
THRIR 1 31 3 fopl. /o, @ travelling in still water and down-
(A) i 5 QHE T stream is 3 km/hr
(B) fad 1 3R I (A) Any one of the three
(B) Only I and II
(C) fak Il (C) Only III
(D) 13RI we |y svean fad 111 (D) Either I and II together or only III
CiM-2 [4] Set-C



e H. 7 TE 8 & fer Frder
rE-=1E 1 AT HIfAT T Y91 6. 7 3R 8
%ﬁ'{m:

T TH.ELT wEawy o fafu= &= (4, B,
C, D 3T E ) ® fagragar & deuf & ol =1
-3y ( feat-am)

7.

BRI @i ol 4T = 2100

E ¥ favragar wia & & 9@ C §

Direction for Question Nos. 7 and 8

Study the pie-chart and answer Question
Nos. 7 and 8 :

Break-up (degree-wise) of students in
terms of specialisation in different areas
(4, B, C, D and E) in an MBA program

Total number of students = 2100

7. The number of students specialising

fordragan wra ol | faas wfawm sy in E is what percent more than that of
&2 students specialising in C ?

(A) 25.9% (B) 35% (A) 25.9% (B) 35%

(C) 32% (D) 31.4% (C) 32% (D) 31.4%

8. A 3B faveza vw & 1 9= C 8. The total number of students
3R D ¥ foasragar wiw 26 € x =R § specialising in 4 and B exceeds the
SRR A total number of students specialising
(A) 65370 in C and D by x, which lies between :

(A) 65and 70
(B)- 35 960 (B) 55and60
(C) 60 3R 65 (C) 60 and 65
(D) 50 3R 55 (D) 50and 55
CIM -2 [5] ‘ Set-C



Study the following bar graph and answer
Total number of boys and girls in

Direction for Question Nos. 9 and 10
Question Nos. 9 and 10 :
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9. faumera C & @i # 9@ 39 faaw™ 9. The number of boys in school C is
%wﬁuﬁ‘a{ﬁaﬂm wfava & 2 what percentage of the total number
of students in that school?
(A) 60% (B) 75%
(A) 60% (B) 75%
(C) 62.5% (D) 67.5%
(C) 62.5% (D) 67.5%
10. fommerm B & el wd faumea D = 10. What is the ratio of number of boys
wTefdl 1 T T § ? in school B to the number of girls in
‘?
(A) 3:4 B) 4:3 school D
A) 3:4 B) 4:3
(C) 13:11 (D) 12:13 &) ®B)
(C) 13:11 (D) 12:13
11. AABCH D 3R E %°%: AB 3R AC | 11. In A ABC, D and E are the points on
et & fag s wer € f% DE, BC % sides 4B and AC respectively such
TR 813 AD: DB=3:4%, @ that DE is parallel to BC.IfAD : DB =
H9dd DECB 3 A ADE & 89%d il 3 : 4, then what is the ratio of area of
STITA 41 B 2 A ADE to that of the trapezium DECB?
(A) 27:64 (B) 9:49 (A) 27:64 (B) 9:49
) 14 :
©) 9:40 D) 3:7 ) (D) 357
12. & accta 16 il o s fafysm 12. A batsman has a certain average of
| #Hd | W 9@ €1 1747 9t H |2 102 runs for 16 innings. In the 17th innings,
W = 2, oa® 3w oftaa 4 3k =g he makes a score of 102 runs, thereby
ST ® | 17901 URT 3 W1 9T a0 increasing his average by 4. What is
$? his average after the 17th innings?
(A) 27 (B) 34 (A) 27 (B) 34
(©) 31 (D) 38 (C) 31 (D) 38
CiM -2 [7] Set-C



Uy €. 13 UE 14 & oo e
T € 13 3R 14 & IW 1 & fou fF=fafaa
IE-91¢ Ta G 1 AT HIfAT ;

ww favafuarem & fafie= @6t & o fse o
feenfifat =t o1 W@ = 5000

fafir= gt o faafta faenfi=y =t g

o GECIECIR:A
Tq. S T 56%
o1, 44%
Ty fesmefm 65%
gIeet Herde 2%
g 68%
SSifrafan 80%

13. T feosfin i wefedl @ gea
Tyeie & Tefedl & ore frae @1 3
2?2
(A) 41 (B) 29

(C) 21 (D) 37

14, . i # et $Sfrafon & ae
&1 g foran wfawm &5 €2

(A) 49% (B) 58%

(C) 42% (D) 33.3%

Direction for Question Nos. 13 and 14

Study the following pie-chart and table to
answer Question Nos. 13 and 14 :

Total number of students admitted in a

13.

14.

university in various fields = 5000

Distribution of the number of students
into various fields

Fields No. of Boys
MBA 56%
[ B. Pharma 44%
Fashion Designing 65%

Hotel Manégcmcnt 72%

Economics 68%

Engineering 80%

What is the difference between number
of girls in Fashion Designing and
number of girls in Hotel Management?
(A) 41 (B) 29
(C) 21 (D) 37

By what percent number of girls in
B. Pharma is less than number of boys
in Engineering?
(A) 49% (B) 58%
(C) 42% (D) 33.3%

_

CIM -2
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15. feafa =1 ufeu iR Iyesy AT 7Y

fawedi § ¥ TAIS HaE & g4

W9 ;

3qe aftes sfuerdt 3 euent < il &

i & fava | & w5 gfa 33 & fou

FE1 T | 319 3 T T ST 39 FHS

F o §1 i off, arafas wgfa &

SR e SRRt R &1 S § SR

39! FIHR Tl & | et Sfafsman

1 Bt 2

(A) T@ e BE A

(B) Hid | 3&iTw < <0

(C) wfafean 01 ik Afust =
Fereemd?t

(D) Wieds TR iR e Ha) fH
g FfeEi i b w AN

15. Read the situation and choose the

best course of action from the options
provided :

Your superior has asked you to give
a presentation on a topic within two
days. You burn the midnight oil and
manage to finish it. However, during
actual presentation your superior is
disappointed and rebukes you for
the work done. What will be your
reaction?

(A)
(B)
©)
(D)

Leave the place immediately
Resign from the job

React and shout at the superior
Ask for feedback and assure that
you will rectify the errors

16. 3y fuifa oafy & qof %t WA awit | 16. Youare handling a time-bound project.
& gREsT H A € | s During the project review meeting,
J3% & N YR I Bl & {6 el you find that the project is likely to get
el @y gedn § et w99 ¥ delayed due to lack of co-operation of
¥ ufde & feaed § faers 89 @ the team members. What should you
GUTE € | S9! 31 T 9e ? do?

(A) FRON 1 Ieei@ HA §Y THAEY (A) Ask for extension of time citing
FQH ! | ! =T reasons

(B) <Teid @&l HI =gd &4 &t A (B) Ask for the replacement of team
HTA =1fey members

(C) EedM & HRU 61 Sra-vsdrd (C) Look into reasons for non-

_ @A 9ifeT cooperation

(D) EedN F Hge W qaira Weedi &l (D) Warn the team members for their
et =t =nfeu non-cooperation

CIM -2 (9] Set-C



17. f&=t (H), 37 (E) 3R ¥=Fd (S) & 17. A result of a survey of 960 persons
a4 4 960 =afaqal & 9 & AT &1 with respect to their knowledge of
o TR e Hindi (H), English (E) and Sanskrit (S)

is given below :
E
(%))
ok
A wTwist H A ATl 6 "@Epa A What is the ratio of those who know
WA aTel & Y ST 18 2 all the three languages to those who do
1 not know Sanskrit?
&3 1
(A) —
1 9
B) g4 1
10 B) —
10
©) 2 10
17 i
© |57
> 5
D) — =
(D) > (D) =
18. @ 7 aefa A fraw P ¥ 2 18. How many triangles are there in the
given figure?
(A) 32 @A) 32
B) 36
(C) 34 B "3
) (C) 34
D 1
@) 3 (D) 31
[10] N Set-C
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19, freafafGa i AR Es@ 1§ ? 19. Which one of the following is greatest?
72 345 202, Jand 2
9’ 5’ 3 1 9 5 8§ 11
(a) 2 ®) 2 ® 3 ® 3
5 3 5 8
7 5 7 5
C) - D} = C) -— By =
© 3 @ = £ 5 B 5
20. waQ B e, ol 756896 # Sg & 20. The smallest number, which should
11 1 7ok WTet e < |, e be added to 756896 so as to obtain a
(A) 1 (B) 2 multiple of 11, will be :
A) 1 B) 2
© 3 D) 5 (A) (B)
© 3 (D) 5
21. TS §HHE &I 595 €. H 994 W 15% &l 21. When an article is sold for Rs. 595,
IhET ﬁ:ﬁ 123% @4 W< & & ferg there is a loss of 15%. To gain 23%, it
™ : should be sold for :
A) 850%. H :
(A) (A) Rs. 850
(B) 921%. # (B) Rs.921
(C) 795%. (C) Rs.795
(D) 861% ¥ (D) Rs. 861
22. IO W A F 45% WEGd L TH | 22, Walking at 45% of his usual speed,
e 1 ‘i& 50 ﬁ:ﬁg LUk W_W a man reaches his destination 1 hour
Ll ! & | T T W g | 50 minutes late. Find the usual time to
T FIe QT 999§ SIS L
reach the destination :
(A) 2%e
(A) 2hr
(B) 3se
: (B) 3hr
(C) 1% = ©) 1%hr
(D) 2% (D) 2%hr
CIM -2 [11] * Set-C



23. 132, 156 3R 192 &1 994 (U4, 23. HCF of 132, 156 and 192 is x, HCF
HWOFE.) x & ; 105, 150 3R 210 = of 105, 150 and 210 is y, and HCF of
7HY y & 3R 112, 196 3R 210 112, 196 and 210 is z. Which is the
UEY z¥ | 999 S 0.GY. HH & ? greatest HCF ?

(A) x (A) x
(B) » (B) y
©€) z C) z
(D) u+ft UeR § (D) All are equal

24. 1,000 T/fFm @t ug A4 R | 24. An alloy is made by mixing metal
700 ®/f6. awelt Uiy B H et A costing Rs. 1,000/kg and metal
2:3ﬁalillflﬁwﬁﬂq§mﬁ%' B costing Rs. 700/kg in the ratio
15 Feeim Qe Ry ¥ W fel 2 : 3. What is the cost of 15 kilograms
SATUT ?

of this alloy?
(A) 9,800%.

(A) Rs.9,800
(B) 8,200 %.

(B) Rs. 8,200
(C) 12,300°%. (©) Rs. 12,300
(D) 12,800 %. (D) Rs. 12,800

25. 12 q&m, 11 gfeenaii 3k 8 =31 & 1020 25. 1020 chocolates are to be divided
afwad A I €1 goE e, wfeen between 12 men, 11 women and 8
AR T332 % st children. Each man, woman and child

) ﬁ. & ! , will get chocolates in the ratio of

*: | fe e 3 : 3 : 2. What will be the share of

AT 2 men?

(A) 324 (A) 324
(B) 432 (B) 432
(C) 540 (C) 540
(D) 450 (D) 450
a

[12] Set-C
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26. UF AFAHR UId i o Fl 20% 1 26. The length of a rectangular park is
fea — § ol =t deE A 10% increased by 20% and its breadth is
27 fet ST & | SR U % a5 o decreased by 10%. Find the increase/

- ) decrease in area of the rectangular
IR park :
A) 12%9fs (A) Increased by 12%
(B) 8% FHt (B) Decreased by 8%
(C) 8%dfs (C) Increased by 8%
(D) 12% HHt (D) Decreased by 12%

27. 3fg UF AMGIFR S & oars, dreh 27. If the length, breadth and height of
FARFIES: 43 F U d § sl g a rectangular box are in the ratio of
SAEE 12960 ¥7 A, T, A SAHER 5:4:3 and its volume is 12960 cubic
T cm, then the length of the rectangular

box will be :
(A) 20 9., (B) 259t (A) 20cm (B) 25cm
(C) 30%s#. (D) 2474 (€) 30cm (D) 24 cm

28. faad 15% W 2 99 & foau w ff=a 28. The difference between simple and
9 W e iR Twgfy = & ot & compound interest on a certain sum of
St 90 %, ¥ | e Fra FTT - money for 2 years at 15% per annum

is Rs. 90. Find the sum :
(A) 4,500 SO X (A) Rs.4,5500 (B) Rs.4,000
(C) 3,500% (D) 4,200%. (C) Rs.3,500 (D) Rs. 4,200

29. w9 fowdt axg #t #ima § 35% & &9 | 29. When the price of an item was reduced
&3 i su=! faswt 1§ 80% e g 1afk by 35%, then its sale was increased by
T i x% F 3fE T, 3 x 1 A 80%. If there is an increase of x% in

the receipt of the revenue, then the
ﬁ":l‘l : value of x will be :
(A) 13 (B) 17 A) 13 B) 17
< 19 (D) 15 (C) 19 (D) 15
CIM - 2 [13] Set-C



30. <A UEY A 3R B wHW: 40 3R 48 e d | 30. Two pipes 4 and B can fill a tank in
TF &F W E§Hha § IRt 3% uey ufy 40 and 48 minutes respectively, and
fire 5 fiom well F 9hal €1 T 91Y a waste pipe can empty 5 gallons per
A IrEy @ 2 R ¥ 30 fee minute. All the three pipes working
TS S A together can fill the tank in 30 minutes.
(A) 450 e The capacity of the tank is :

A) 450 gallons
(B) 500 e A )

B) 500 gallons
(C) 400 et ") "

(C) 400 gallons
(D) 480 e

(D) 480 gallons

31. AR 15,400%. 9529 AR 9FHAT | 31. A person buys 5 tables and 9 chairs for
TS ¥ 1 9 WS Bl 10% & FRAA Rs. 15,400. He sells the tables at 10%
20% &Y 9 99 <1 © | gfe gt A= 3k profit and chairs at 20% profit. If his
T = =9 2,080 . 1 1Y B ¥, total profit on selling all the tables and
@ 7 il %1 o I 0 22 - chairs is Rs. 2,080, what is the cost

: »
(A) 4,900%. price of 7 chairs?
(A) Rs. 4,900
(B) 4,130%.
(B) Rs.4,130
(C) 4,200%.
(C) Rs. 4,200
(D) 3590% (D) Rs. 3,990

32. IR a+b+c=83Rab+bc+ca=1% 32, Ifa+b+c=8andab+bc+ca=
@ A B F be(b +¢) + ca(c +a) + 1, then find be(b + ¢) + ca(c + a) +
ab(a + b) + 3abc =? ab(a + b) + 3abc =7
(A) 4 (A) 4
B) 1 B) 1
€) 2 (Cy 2
(D) 8 (D) 8

[14] Set-C
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33. frafafad e o v fogd (7) & @A

33.

Select the number that can replace

T 3 G arelt @ F g ; the question mark (?) in the following
series :
24, 25, 29, 56, 7
24, 25, 29, 56, ?
A 1
(A) 316 (A) 316
(B) 422 (B) 422
(€) 448 (C) 448
(D) 312 (D) 312
34. 4R sR-gge feu wu € o @ <= 34. Four letter-clusters have been given,
frelt WHR T9F ¥, el O ST ) out of which three are alike in some
' manner, while one is different. Select
I ST SER-THE I I FIT : the odd letter-cluster :
(A) CXIR (A) CXIR
(B) LNJQ (B) LNJQ
(C) EVGT (C) EVGT
35. frfafaa g@en 9 w7 fagm (2) =1 35. Selectthe letter-cluster that can replace
IS F A F4R-FHE I g : the question mark (?) in the following
series :
ELV, JHY, ODB, TZE, ?
ELV, JHY, ODB, TZE, ?
(A) XVH
(A) XVH
(B) YWH
(B) YWH
U3 XVH (C) YVH
(D) XWG (D) XWG
CIM-2 [15] Set-C



Wy °. 36 TE 37 & fore Fder
9 @ 7€ gu w1 g Frefafas g &
I T
s AP, O, R, S, T, U, V 3R W& aftfy
TFE R AN FFAREIQ VRS H
sS4 ¥ | W, Q% I A TH WA P F
T T WH W IR, PR V& &= =1 7
0 3R 7w gat & faada i 43 €1
36. S A qEq A 8 ?
(A) U
B) T
C) P
(D) ¥ | =g TEl
37. frefafes ¥ @ fF-w1 Fy7 9& 1@
®?
(A) SR PUH TR & faqda e €
(B) R,S% T 3R AT g
(C) T,USRSH a1 g
(D) P,RIARUSF ST a1 &

38. o fog-g#d woas & fawld wos W
-9 fag g ?

Direction for Question Nos. 36 and 37

Read the information given below and then
answer the questions that follow :

Eight friends P, Q, R, S, T, U, V and W
are sitting in a circle facing the center.
Q is sitting between ¥V and S. W is third
to the left of Q and second to the right
of P. R is sitting between P and V.
Q and T are not sitting opposite to each

other.

36. Who is third to the left of § 7
A) U
B) T
© P
(D) None of these

37. Which of the following statements is
not correct?
(A) S and P are sitting opposite to
each other
(B) R is third to the right of §
(C) Tis sitting between Uand S
(D) P is sitting between R and U

38. Which symbol will be on the face
opposite to the face with symbol a ?

B B a 0 B B o )
v |4 o |¥] 6 [®J[ 5 [0 y |9 o [¥] 6 (Y[ 5 [0
(A) & B) P (A) & (B) B
(©) © (D) & € o D) ¢
CIM -2 i Set-C



Uy H. 39 TE 40 & o fder
ofifeafs &1 sreaga sifag qun fag 1o faemed
# ¥ fopn o1 I =6t 1 g

39,

40.

MY UF Feedl H .. favmg €

Afera ag=nt st & | a1 ¥ 9% wra

daeE | 991 gen 8, fawd amg wfie

A @A T | 39 F1 H4?

(A) wifaa aen § & i g 3/ =g
&F g 99 e

(B) 2797 WEHh{Hdl ¥ Hgan o ae
g dR-wl* dE @ F I
3 g i 7 € fof o19d e
&I duifed & o 399 T gt
H eI A

(C) =4 feu 91 & w9y & 39
a9 aar <71 fo 39 = | defia
IS 9% 919 e &

(D) 197 aftss =i fafaa en @ =@ 3
% 39 1 | A9 5 G9Y TEI
4

Y T FREM & Hife® & | T e

HREH H YR-T B T qg1 S9!

waran T 5 <) Heigll W @R #i U v

iR € %13 @ 90 @ e g e E

AT 37 IR § GH 9% W@ ¥ | |eft |l

TR € | S9! 391 FHEE 918 ?

(A) wRfefa =1 daen &g gfem =
AT T FMMET

(B) #9igi ¥ ®ew w@ifeT f& I &m
319 -379 M W &H ¢

(C) WS/ €9 & a1 I A 3UH
iy 39 fawg d faar-fauast s
Rl

(D) = HSIGU i dehra Fafea 1
LY HH! ey

Direction for Question Nos. 39 and 40

Study the situation and choose the course of
action from the options provided :

39. You are the IT expert in a consultancy,
but the work assigned to you pertains
to Human Resources, an area in which
you have limited knowledge. What
will you do?

(A) Do limited job and send it to the
boss

(B) Take help from co-workers and
after learning the ropes dispose
the work and inform the senior
that you have taken the help of a
fellow worker to finish the job

(C) At the time of assignment, you
will inform the boss about not
having relevant experience

(D) Inform the senior in writing that

- this work is not of any concern

of you

40. You own a factory. One day, there is
noise in the factory and you are told
that an iron rod has fallen on two
workers. They are badly injured and
are bleeding. Everybody is in panic.
What should you do?

(A) Call the police to control the
situation

(B) Tell the labourers to mind their
own business

(C) Call the union leader and discuss
the matter with him

(D) Get immediate medical attention
to the injured labourers

CiM -2
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U9H €. 41-45 & fau fadr

FYAl B AFYES AT Fw frAfarad

mﬁ’fﬁ?miﬂﬁq:

T ¥ $iew & ey ¥ ofad ¥ fau

IHHGAR & 997 T Bl W4 FAEAfafE € -

(/) 1 3vr4, 2017 & 39 25 99 @
11 A Bl

(i) gAqH 80% % WY Tl I &

(i) Terslt oft fawa o =gaaw 70% & w1y 124
9 &

(iv) w9g == # 70% wifas foman 8

(v) =afeTa GiER § gaad 60% efad
e &

I ITICER & gay o, W frefafas & s

it oI gt i ¥—

(@ ST (i), w0 12 # =gaw
60% wifaa foran ®, aifea 1241 e &
foum fo=m &1 391 qmen AT F
faamiig wam =1 S s 8

(b) 3IUlEa (v), Afema WEHR ¥ 50%
sifaa fean 8, S91 Amen vefiym
Hife H S S R
freafafas & v & & Iofileanr

&1 faaror fean = } 1 eve S feufE

Td Y& W9 H & T PRI & MER W

FRAEA H ¥ TH FH FAE A 8 AR 39

FHAE S & F W I H fafga won

BT | 3719 Yo 9 § <Y 718 R & ST

3R Fo T 9 Tha € | 3 wft 9t 1 evT,

2017 % SR & |
I T Y H R T GIN A UG T

AETER o791 I fafga &L

Direction for Question Nos. 41-45

Study the statements carefully and answer

the following questions :

Following are the conditions for selecting a

candidate for MBA in a top college :

The candidate must—

(f) be not more than 25 years of age on
1 August, 2017

(if) be a 10th pass with minimum 80%
marks

(i) be a 12th pass in any discipline with
minimum 70% marks

(iv) have secured minimum 70% in Group
Discussion

(v) have secured minimum 60% in
Personal Interview

In the case of candidate who fulfils all the

conditions except—

(a) At (iii) above, but has secured at least
60% in Class 12th but had Science
in Class 12th, his/her case is to be
referred to departmental head of MBA

(b) At (v) above, but has secured at least
50% in Personal Interview, his/her
case is to be referred to admission
committee

In each question below, details of one
candidate are provided. You have to take
one of the following courses of actions
based on the conditions given above and the
information provided in each question and
mark the number of that course of action as
your answer. You are not to assume anything
other than the information provided in each
question. All these cases are given to you as
on 1 August, 2017.

Now read the information provided
in each question and mark your answer
accordingly.

CIM -2
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41. g _12a'rf o fagm= o 85% ait 104t 41. Sushant scored 85% in 12th in Science
90% BIfas fear | 397 =afeaTa TR Stream and 90% in 10th class. He
¥ 61% 1R wvg ==t #§ 74% wfee fwan scored 61% in Personal Interview and
SUH 5 24 37, 1994 Y g 01 ; 74% in Group Discussion. He was

born on 24th April, 1994 :
(A) TS = THELT F faummems =
S S (A) Case is to be referred to
departmental head of MBA
(B) Swigar & A1 5 §
(B) Candidate is to be selected
(C) 3witgar = &l g1 9T © _—
(C) Candidate is not to be selected
(D) U= A T I g o & ©) D cog
ata provided are inadequate to
fo sroaia ® ;
take a decision

42, e 7 12 § fag@ fawa § 67% R | 42. Dikshant scored 67% in 12th in
105t 7 92% zifaa foan | 397 saferm Science Stream and 92% in 10th
TR H 85% 3R e == 4 82% class. He scored 85% in Personal
Tifae e | 9 9= 12 faami, 1995 Interview and 82% in  Group
1 A A : Discussion. He was born on 12th

September, 1995 :
(A) H ISR (A) Candidate is to be selected
(B) & fvig oF & fou stoaiw & (B) Data inadequate to take a
decision
C) wmat = wefayA wfufe & 9 9=
© (C) Case is to be referred to admis-
ST ® ‘ .
sion committee
(D) AW @l THELT & faurmeas & (D) Case is to be referred to
9 9 S B departmental head of MBA
&
CIM -2 [19] Set-C



43. Y 7 121 o wen fawg § 75% 3R 43. Rishabh scored 75% in 12th in Arts
105 § 95% wifas faran | 399 =afaTa Stream and 95% in 10th class. He
TETHR § 55% 3R g == ¥ 76% scored 55% in Personal Interview and
Tifae faFan | 39& 9= 19 =R, 1993 76% in Group Discussion. He was
Fr gam o - born on 19th November, 1993 :

(A) TS F AT F Faammeas ¥ (A) Case is to be referred to
o o departmental head of MBA

(B) 3HHigaR i A1 9T & (B) Candidate is to be selected

(C) wiieam = & T 3 (C) Candidate is not to be selected

(D) = % TefhayE wiafe % arg S (D) Caseistobereferredtoadmission
SR committee

44, A 7 12 ° 69% i =gl ¥ 87% 44. Roshni scored 69% in 12th and 87%
eifae foran) s9n =afeama g o in 10th class. She scored 62% in
62% 3R TE == ° 74% wifae fEa Personal Interview and 74% in Group
T 5 13 R, 1992 F g3 o1 ; Discuss;inn. 95;1; was born on 13th

December, 1 :
(A) <o frofa e % fore i & (A) Data inadequate to take a
(B) HHS i '@ﬁzﬁﬁ +wiHfe & 9 9= _ decision
EIEIR (B) Case is to be referred to
i admission committee
© TN JaT (C) Candidate is not to be selected
(D) IR i FA S € | (D) Candidate is to be selected

45. IR 7 124 ¥ anforey fawg & 65% 3 | 45. Shekhar scored 65% in 12th in
1051 § 85% =ifas foran | 397 =afaama Commerce Stream and 85%:in" 10th
R H 65% 3R wg == 7 80% class. He scored 65% in Personal
Zifeet FoaT | 39S 1 29 3T, 1995 Interview and 80% in Group
1 gor o - Discussion. He was born on 29th

) August, 1995 :
(A) Feieam 1 g 1 & (A) Candidate is to be selected
(B) mel F THALY, F fasmmens F (B) Case is to be referred to
I WS S © departmental head of MBA
(C) =™ i TefyH Hfafe & o (C) Caseistobereferredtoadmission
Sl committee ‘
(D) ICaR Ht 7&f g1 5 (D) Candidate is not to be selected
CIM-2 [20] N Set-C



46, =9 feu v 9 faredi 4 @ 39 46. Select one option out of the four
fashed &t gfe St F W v & i 36 options given below which is related
e o1 g3 ¢ fore o vee vk € g5 to the third word in the same way as
bl S1F S g the second word is related to the first
YT : TTAgH :: U ¢ ? word :
(A) AR Bhutan : Ngultrum : : Iran : ?
(B) fam (A) Dinar
B) Rial
(C) e b K
(C) Shekel
(D) 7
(D) Euro
47. fodl & @™ Fe 99 § ‘FEATURE’ 47. Inacertaincodelanguage, ‘FEATURE’
# ‘UVZGFIV’ fa@r s €1 36 &e is written as ‘UVZGFIV’. How will
W # ‘CHARACTER’ %t 1 feran ‘CHARACTER’ be coded as in that
m?
' language?
(A) XSZIZapgy) (A) XSZIZYGV]
(B) XSZIZHG¥] (B) XSZIZXGVI
(C) DSZJZYGXJ (C) DSZIZYGXJ
(D) XSZJZXHY]J (D) XSZJZXHY]J
48. 4 fou 7 =R fawedi § @ 3 48. Select one option out of the four
fosre &1 gf St el @ ¥ S options given below which is related
SHt e o1 g § fow @@ veeh den to the third number in the same way
YIS gs ¢ ¢ as the second number is related to the
7:336::11:2 Hrst b
: i .9
(A) 1210 T:336:: 11 :7
(A) 1210
(B) 990
: (B) 990
(©) 1320 © 1320
(D) 122 (D) 1122
CIM -2 [21] ] Set-C



e €. 49 T 50 & forg Frdor

Freferfaa s e el @ s Tfeu
I% A Sifoe fob wel | & 1 SHert uet ®
S 98 J a2l ¥ ST yotd et € 1 9% 7
sifae for fee e fremef # & 9 @ifehs ®9 9
HYAI *F O

49, /YA :

()
(1)

ot R IS B &
F9 [EHR JH-IF B &

e

L.
II.

[1I.

(A)

(B)

(©

(D)

FS YHU-9F JEHR B ©
FT U5H TEHR Eld ©

FS THV-9H S B ©

qft frewd 1, 11 3R 1] oAl &
TR &

fadh frsmd [ iR 11 ol & SITER
€

fads frepd 1 3R 111 el 3 SR
g

fak frsrd 11 iR 1 oAl &
TR §

Direction for Question Nos. 49 and 50

Read the given statements and conclusions

carefully. Assuming that the information

given in the statements is true, even if it

appears to be at variance with commonly

known facts, decide which of the given

conclusions logically follow from

the

statements :

49, Statements :

(@)
(if)

All prizes are medals

Some prizes are certificates

Conclusions :

L.
IL.
ITI.

(A)

(B)
©

(D)

Some certificates are prizes
Some medals are prizes

Some certificates are medals

All conclusions I, II and III

follow
Only conclusions I and II follow
Only conclusions I and III follow

Only conclusions II and III

follow

CiM -2
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50. +H9A:

() Wi PN E
(i) 18 w1l IR =T B
freaned

. % Far et 78 g
[I. g I 0 T g

Il Fo T $9 e &

o frepd 1] oAl & STER ©

fak fremd [ 3R 11 +oE &
HIER B

fads fread [ sl & STgOR @
ok frerd 11 3R I 991 &
HTER €

(A)
(B)

©)
(D)

50. Statements :

(i) All dogs are lions

(if) No elephant is a lion

Conclusions :
[.  No dog is an elephant
II. No lion is a dog

III. Some elephants are dogs

(A)

Only conclusion II follows

(B)

Only conclusions [ and III follow

(©)

Only conclusion I follows

(D)

Only conclusions II and III

follow

51. 3fs fdl @@ F2 91 § CARMY’ &1 51. Ifin a certain code, ‘ARMY is written
59065125 forar i 8, a1 ‘NAVY' & as ‘59065125’, how will ‘NAVY" be
fore 39 v & s foran smam ? written in that language?

(A) 705110130 (A) 705110130
(B) 906220125 (B) 906220125
(C) 705110125 (C) 705110125
(D) 701550130 (D) 701550130
CIM -2 [23] Set-C



RE] ﬁ._ 52-56 & ferw fder

% 8T TF & SN TH W@ gL e |

TeTE! iR o Sl % o " 9 9 € 1A
3R S Tl & o9 < 9 § | T T TR
R 2 999l & o9 W@ g | A SR Aid
Sl F o9 S 999 W@ g T | fad uw s
et iR Fret s & W9 W@ gen €| Hen
FHT AR T & ik HI A1 A1 T W@ T
T | Tk 3R diet sl & e <1 999 € | §%he
T A TR F SR @ g 7, AfeA 9%
o SW T R

52, fFg M s EaQ AR &2
(A) Tt
(B) dien
(C) ==

(D) T q g Tl

Direction for Question Nos. 52-56

There are 8 boxes of different colours, viz.
Green, Blue, Pink, Black, Orange, Yellow,
White and Red, which are kept one above
other.

There are four boxes between Pink and Red
box. There are two boxes between Red and
Green box. Three boxes are kept between
Orange and Green box. Two boxes are kept
between Orange and Blue box. Only one
box is kept between Blue and Black box.
The Black box is not kept immediately
above or below the Orange box. There are
two boxes between White and Yellow box.
The White box is kept above Red box, but
not on the top.

52. Which coloured box isKept ‘at the

bottom?

(A) Pink

(B) Yellow

(C) Red

(D) None of these

53. 7ot 999 % uftdem § wiel w9 @ | 53, What is the position of Black box with
feafgwn g ? respect to Pink box?
(A) %= (A) Two places below
(B) 3 FWN (B) Immediately above
©) dF (C) Immediately below
(D) ¥ | HI5 Tel (D) None of these
CIM -2 [24] T Set-C



54. Yiel 3R TN 99E ¥ o= fha = 54. How many boxes are kept between
€2 Yellow and Orange box?
(A) 3 (A) 3
(B) 2 (B) 2
(C) 4 © 4
(D) = ¥ F T (D) None of these
55. gaR IW g T asm € ? 55. Which box is kept at the top?
(A) st (A) Pink
(B) (B) Red
(C) =it (C) Orange
(D) dren (D) Yellow
56. Trafafes o 9 feg @ =1 s=a o 56. Which of the following boxes is kept
I & 3 FIRE ? immediately above Red box?
(A) =t (A) Orange
(B) ¥¥g (B) White
(D) =& @ = (D) None of these
57. GaRfarcai iAW I d=F Q s@m 2 57. Out of the four alternatives, one is
39 31 faseq &1 F@ FifaC - different from the other three. Find
(A) wet that odd one out :
A) Elephant
(®) = (A) P
< (B) Whale
EIE
© (C) Hawk
(D) =weE (D) Bat
[ |
CiM -2 [25] Set-C



58.

59.

feu o Fum iR Frafafaa yronsti w
four =ifsg ik freeg Fifsg fF FF-
o yron e ¥ Sfafifed & SR qeqER
3791 IW AT

HUF ;AN it 3 i fean @
o et § 9afaRwr yguvl & WR HI HH
FH F fau wex ot 9w % i feua
T @A Hl 9l WEFG R
ST |

e

YU :

[ 3 SR@EAE W Wl & =6l
THARd & & ag vfas § &t
o YUl 1 WR HH T Gl 2

[I. 3 FREFA & fau 3vEm amg
AT YfT et & el YA ©

[II. 3 @ H § 3 ] A9gHES
5 1 & fau $o 3= 91 weli |
YT fehan s g #

(A) waa [1 siafifeq &

(B) Fad 1 3R 111 fafifed &

(C) aet I iR 11 sfafaféa &

(D) ¥ | =3 7l

it 3R | o6 T 92 ¥ H 27 Th-
A B w41 H e 7 fak 9 iR |

38.

59.

Consider the given statement and the
following assumptions. Decide, which
of the assumptions is implicit in the
statement and choose your answer
accordingly :

Statement : The civic authority has
decided that all the factories located
inside the city limit be shifted outside
to reduce the level of environmental
pollution in the city.

Assumptions :

I.  The pollution level in the city
in future may reduce after these
factories are shifted outside the
city limit

II. Enough usable land is available
outside the city limit for these
factories

III. Many of these factories may

shift to some other smaller towns
to remain profitable

(A)
(B)
(©)
(D)

Only II is implicit

Only II and III are implicit
Only I and II are implicit

None of these

All the faces of a larger cube are

coloured red and then cut into 27
identical smaller cubes. Find the

G Bi2 Sl = e : number of smaller cubes in which
(A) 24 (B) 8 only two faces are coloured :
A) 24 B) 8
©) 12 (D) 9 (A) (B)
© 12 (D) 9
CIM -2 [26] ) Set-C



60. o wa s e ¥ 1= fem F T
wa Afea F fon = T ¥ 1 Fom g
Fi T &1 i < # H ¥ )R e
I THAA oA o 9 ¥ | Afea w1 gumw
Y Gy 2

(A)
(B) 9=

© T
(D) TR

WY . 61 T 62 & fore frdyr

<t TS G O ATYEE eI HI T T
4. 61 T4 62 & IW g ;

A,B,C,D,E,F,G,H3RrIHfag¥1C,BY
2fF M @14, B9 | formd AT R A,
AQ2 T <Rmd 1 G, HA | f& . ofiem
FR¥vmfe D, GA3fEM @it elRF GH
2f&d sMAR L BIARCHF g A § waf
E, H¥RDFwead &)

60. Ravi is the brother of Sweta. Jyoti
is the sister of Neelam. Sweta is the
daughter of Rohit’s father. Neelam is
the daughter of Subhash. Jyoti is the
mother of Ravi. Mahesh is Neelam’s
only sister’s husband. How is Rohit
related to Subhash?

(A) Brother

(B) Grandson

(C) Son

(D) Son-in-law

Direction for Question Nos. 61 and 62

Study the information given below carefully
and answer Question Nos. 61 and 62 :

A,B,C,D,E,F, G, Hand I are nine
points. C is 2 km east of B. 4 is 1 km north
of B and H is 2 km-south of 4. G is 1 km
west of H while D is 3 km east of G and F'is
2 km north of G. [ is situated in middle of B
and C while E is in middle of A and D.

61. ESRIFoa=igdane? 61. What is the distance between E and /?
(A) 3f&st. (B) 2f&st. (A) 3 km (B) 2km
(C) 5 f&m. (D) 379 | ®1E 7& (C) Skm (D) None of these
62. EFRFFaARIgUFANL? 62. What is the distance between E and F?
(A) 1fws.  (B) 23 feh (A) 1km (B) 243 km
(C) 242 f&s (D) =98 ¥ = = (C) 242 km (D) None of these
CIM - 2 [27] ) Set-C



63.

64.

65.

66.

YYETES GaAm TR §

(A) Fr= (B) &
(C) =ha=1 (D) &L
farmga' i yma €

(A) T (B) fawm
(C) == (D) 131

AFHT-S H HH-H1 G019 € ?
(A) HHYRF (B) fgm
(C) dcges (D) &8

TH Y YgarEs 991 ¢

70.

71.

72,

gyt 4 & s = faeast
oy § wier § 7
(A) 5 (B) 7
) 9 (D) T8 | &g oft 7

g w3 @ e sfiq T
2

(A) ufves fé<

(B) Yot fE<

(C) werEl fE=d

(D) T8 § ®iE ot 7

'lﬂw-ﬂm%umﬁa.ﬂ.ﬁnm
R?

(A) HHa1 (B) &g (A) E= (B) o
) =T (D) @ (C) fadmor (D) TH A FK o
. wAfaam o : 73. ‘AW’ W= 1 U 4 g #—'wd' 5
v n ﬁm::m% n A e o gE 7 o B § 2
W '\ (A) = (B) TeET
(C) &= (D) fe ©) D)
(A) &% 9™ 1 1 el I ¢ ?
(B) HHAvE A (A) d@g (B) Wevd
(C) wHuRE g (©) ¥ (D) w9 9 i ot 7
(D) MR 75. ‘' 1 9E fadm wee #7422
“ P (A) aftR  (B) 9=
» Smmwﬁﬁ TRl ©) ¥F (D) T A ot
(A) H s B) # 7Sl 76. Trafafga & § FE-T1 9= IS € ?
©) dmsmd (D) ¥ wwa (A) frsta  (B) freia
©) fwffla (D) ffsfa
CIM-2 . oo



77.

78.

79.

80.

Fretferfiaa 3 @ v oot =01 Seon g’
Agme?
€A) T
©) ®

(B) §
(D) W

‘g geg 7 Sl o1 wF ' 9w F

fere wge €1 1o o wiss == € ?
(A) ¥TeA (B) wgqA
(C) HeFam (D) HeFEH

‘F' favfem =1 wam f67 § wri J g
€?

(A) H IR =

(B) #u 3R 37IRH

(C) 3EF 3R At

(D) #9EH R FHEH

‘T’ = w1 HE dfu-fasse #m
g ?

82.

83.

8s.

"Ga e’ HETat 1 we aved @ g ?
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